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00 z,y,2000 f=f(z,y,2)00000000,0 (z,y,2) 0000 fO0O0O
(gradientiD 00O OO0OODOOODO.

af  of  of

gradf = %eﬁ @ey + 9

e.. (5.1)

000 e 0000000000000 .grad000000O0DO, 0000000
ooopooo.Gynoooooooooo

V:e g_‘_e g_{_eg
) Yoy “0z
ogoooo
gradf =V f
goooog.

(1) 000 POOOOOOODOO 000000 QOOD.0POOQOIOOMO
00000 f0000000000O0,0000PQOOPOOOO VOO
000000000000 @O00: 0000 PQO dr = e,da+e,dy+e.dz
ooooo).

() VfO f=0000(QO00000000)00000000000
(3) ¢0 f00D00DOODO0OOOOO0OOD,00000000000000O.
000 ,f00000000.

(i) V(af+pPBg)=aVf+pVyg (i) V(fg)=9Vf+fVyg

(i) v(?)zw W) Vit =vy
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(1) 000 2000000000 (2,9) 0000000000 f= f(z,y) 000
O,gradf 000,000 f=00000000000.000,r =22+ 42
ooo.

2

() f=- () f=2 (i) f=ay (v) f=1+05

(2000000 r =ze,+ye,+2e,0000,0000000000000
0.000r=r/000.

() Vr=" (i) Vi) =5 (i) VO)=-% (v) Vir=1
(3) 30000000 Pla,y,2) 000000000 Q +du,y +dy, 2 +dz) O
O0.PQUODODOOOOOOO w=(,mn)00000,000000
of flz+1As,y + mAs, z + nAs) — f(z,y, z)

% = Al}sIEO As

Of0.0000000.000 AsOO0D0O0OPQUODOOOD.DOOO
gobooobogd.

i G- @ |§<wn

ou ou
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53 0000000
00000D00000000000000

. 8CLZ‘

A =a,(z,y,2)e, + ay(x,y, 2)e, +a.(z,y,2)e,

0000 {@Dob0 AODO0ODDOOOOOO0).A0DO (divergencedO0O0O0DOOO
0)Oooooooooooo.
da, Oa, Oa,

div A = o + Dy + P

(5.2)

(1) dvA=V-ADOOOOOOOOO.
(2 p=v(r,y,z)000000000OC0O0O,
div- (pA) = (grady) - A + pdiv- A
gooooooo.

@ LoUoOoboobd ebboOg,

: Do O  0A
div (grady) = 8722 + 8; + a—;

gogbooogd.

00, div(grade) O V-(Vy), V2o OOODOD. 000 V2O0OOADDO,
0000000000000,
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00000 ADOO,0000 (retation,0000000O,000)0000000
gogooo.

da da da da da da
A= S T = —4_ 7 . .
rot <3y 8z>6x+<8z 8x>ey+<8x ay>ez (6-3)

ggoooboood,

rtA=| 2 2 92

goooo.

(1) rtA=VxAODODOOOOOOOO.
(2 rtADD ;000000000000000 £, 000000.
(3) 000000 o000 rot(grady) =000000.

(4) div(rotA)=000000.

(5) rot(pA) = (gradyp) x A+ rot ADDDODODO.
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(1) 3000000000000000.000000000000000 v(z,y,2)
000000.0000000000000 P(z,y,2)000000,000
2,y,20000000000 (de,dy,d2) 00 000000000.0000
0000000000000000000,0000

(divv)p x dzdydz
0000000000.000 (dve)pd0 POODO 000000,

(2 0ooooooooOoCoCoooboooo QLooooooboooooo.-
goboobooooobboboobo -000.»0000D0ODO o000
guo,

() v=Qxr00000000.
(i) rotv 00000,

oo QboboooQuoooboooooboon.

) 000000 C:r=x(t)e,+y(t)e,+2(t)e, ¢t DDDOOD)O0O0O0O0OO
000000000 A(r,y,2)00000000,C000000 A(z,y,2)
000 (steamline000. 0000 CO0O0O00O000 r0000000

gooo.

dr
— = A.
dt

goouooooobuooooobog,gggoooouoog, oo
gogoonD.o0d «0gooog.

() A=oa(re, +ye,),a<0

(i) A=«
(i) A=«

(iv) A=a(ye, —ze,),a <0

(
(
(ye, — xey), a0 >0
(

)

re, +yey), o >0
)
)
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O00000000000.000 ¢(x,y,2),v(x,y,z) 0000000, A(z,y, 2),
B(z,y,,)0000000000.

(1) V x (V) =0

(2) V-(Vex Vi) =0

(3) V-(A-B)=(A-V)B+(B-V)A+Ax (VxB)+Bx(Vx A)
4) V(AxB)=(VxA)-B—(VxB) A

(5) Vx (Ax B)=—(V-A)B+ (B-V)A+ A(V-B) - (A-V)B

6) Ax(VxB)=A-(V-B)— (A-V)B

(7) V x (V x A) = V(V-A) — V2A
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z,y,2,t 0000000 EHOOOODOOOOOooOOoo.

dvE=0, dvH=0, rotE= _187H, rot H = la—E
c Ot c Ot

000 c0O0000D0.0000 EHOODOOOODODOD(@MODOO)booo
gogooo.

PE 5, OPH  ,_,
5p = CV'E. S5 =CVH.
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0o000o0oOoo0o0oOooopo0oooooD @oooo)b,000DoDOo0Oo
goo.

ov oD
e +(v-V)v = V(;), (5.4)
Vv =0. (5.5)

000 v=w(z,y,2t)0000000,p,p0000000000000.

(1) (5400000000000000000

0

E(va):Vx[vx(va)]
goooD.000000d0 VxoOOooooo.

(2) 0000000 (Vxv=0000,000000 é(z,y,2,¢) 0000

v=Vo

D000D0000D000 (p000D0000000DO000).
(2 0000000,000000000 ¢0
V2 =0
DD00D0000D (0000000000 0O0O0ooDan).
(3) 00D000D0000O,0000000

|
2P opo
2 P

0000000000 (CoDO0O0o0000).000wv=|v|000O.
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